
 

 
  

 

Max z = 7x1+9x2 

s.t: -x1+3x2 ≤ 6 

7x1+ x2 ≤ 35 

 x1,x2 ≥ 0 ح ويعدد صح               

Max z = 3x1+4x2 

s.t:2x1+5x2 ≤ 15 

2x1-2x2 ≤ 5 

 x1,x2 ≥ 0 ح ويعدد صح               

 

 

 

Max z =2x1+3x2 

s.t: 5x1+7x2 ≤ 35 

4x1+9x2 ≤ 36 

 x1,x2 ≥ 0 ح ويعدد صح               

 

 

RHS S2 S1 X2 X1 XB 

 

 
 

 

 
 

  
 

 

 

 
 

 

 

0 1 X1 

 

 
 

 

 

 
 

 

 

 
 1 0 X2 

  

 
 

 

 
   0 0 Z 

Max Z = 2x1+4x2 

s.t: 2x1+x2 ≤ 5 

-4x1+4x2 ≤ 5 

0x1, x2 ≥ 

X1 حيعدد صح



 

 
  

 

Max z = 3x1+2x2 

s.t: 5x1+6x2 ≤ 30 

2x1+x2 ≤ 8 

 x1,x2 ≥ 0ح ويعدد صح               

 

 

 

Max z = 5x1+4x2+x3  

s.t:  x1 +2x2+x3 ≤ t1 

      2x1+2x2+x3 ≤ t2 

      3x1+3x2+x3≤ t3 

       x1, x2, x3 ≥ 0 

 

Max z = 5x1-3x2+4x3-4x4+x5 

s.t: Ax ≤ b 

1≤xj≤8  j=1,2,3,4,5 

 

RHS S2 S1 X2 X1 XB 

  

 
 

 

 
 

 
 

 

 
 

 

1 0 X2 

  

 
 

 

 

 
  

 

 
 0 1 X1 

  

 
 

 

 
 

 

 
 0 0 Z 
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